W hh~rEkesm P 3H¥E BRDOFL—=>7 Training11

(1) 4+ (=2) +(=5) #HaEtEe k. (2) 6-9x (-2 ZitHe L,

(3) %_%Jrf_zy wEE X, (4) 6a%b + (—3ab) x 2ab ZEIEHE X,

(5) x?2+xy—12y? #ZKEHRE X,

(6) x=2 y=—%@k?\ RDOADEE KD X, (3x + y)? — (3x — y)?

3\

(7) HEKX 3x(x—-1) =4(x+1Dx—-2) %@ET,



W hh~rEke¥m P 38E BROML—=>7 Training 12

(1) 8+ (=6)—(-2) %ilEw X, (2) 243+ (=3 #iHe X,

(3) 53x—y)—{3x—4(y—3x)} ZElEHE L,

(4) 6a> —Z(3a—b)(Ba+b) %ilhe L, (5)V48 —V75+V12 #%EtEw X,

2
(6) E#7 R { x Yy _ Z T,

(7)) AKX 2c=Dx+3)=x%24+5x—4 %I,



